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Public Administration

Paper II

weh qomEd
goatent 11

Time Allowed : 75 Minutes]
Note

[Maximum Marks : 100

: This paper contains Fifty (50) multiple choice questions. Each question

carries Two (2) marks. Attempt All questions.

LN ~
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: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

Department of Social Security was

redesignated in :
(A) January 1966
(B) January 1956
(C) January 1959
(D) January 1967

Social Justice Department has two

broad divisions :

(A) Welfare and Child Welfare
(B) Welfare and Finance

(C) Welfare and Tribal

(D) Welfare and Scheduled Caste

(A) STHeRI 1966
(B) Sl 1956
(C) et 1959
(D) SHet 1967

qrETiSTeh = faurm= 9 faeqa fawm
7 ofRd

(A) IO T ATeTheTol
(B) e effur faia
(C) e 2qfor sTfart

(D) koA o SAYfed St

[P.T.O.



Match List I with List IT and select
the correct answer by using the
codes given below :
List I
(@) John Rawls
(b) Henry Metcalf
(¢) Michael Sandel
(d) Amartya Sen
List II
(1) The Idea of Justice
(2) Liberalism and Limits of
Justice
(3) A Theory of Justice
(4) Industrial and Social Justice
Codes :
(@ b)) () (@
Aa 1 @ 3 @
B) 2 @ @O @)
QO @ 6 @
D B @ @ @
Who was the chairman of the
Economic Reforms Commission
(1981-84) ?
(A) L.K. Jha
(B) Dharma Vira
(C) K. Hanumanthiya
(D) B. G. Deshmukh

APR-2121711—D

= I gl 1T o Sesel 0T et
fooied Fehamhlqd 9 3a fael :
et 1
(@) S e
(b) T HIHH
(c) HEhal H=ed
(d) ¥\ &
T 10

(1) f sT=E e S
(2) fasrfegm sfve fafies sifw g
3) f& ger e S
(4) TSEAA 3UE IR =9
Hehdich :

@ ®) () (@
A 1 @ 6 @
B 2 @ @O @
© @O 2 B @
M B @ @ @
3T FUR AN (1981-84) &8
I Bd ?
(A) T .
(B) & for
(C) . TIEIA

(D) st . IWH@




Reservation for the Scheduled

Castes and Scheduled Tribes in the

services has been provided in the

Indian Constitution under ................ .

(A) Article 315

(B) Article 335

(C) Article 365

(D) Article 375

Modern local government differs

from ancient local government in its

(1) Representative character

(2) Elective nature

(3) Legal position

(4) Popular demand for creation

Codes :

A D

(B) (1), (2)

©) (1), (2), (3)

D) (1), (2), (3) and (4)

Which one of the following pairs is

not correctly matched ?

(A) Employee’s Provident Funds
Act—1952

(B) Hindu Marriage Act—1955

(C) The Prohibition of Child
Marriage Act—1975

(D) Dowry Prohibition Act—1961
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qardiad STfaa St ST eTyfea
SHIATETG SR A ToTeed e

R ke 15 O s |

(A) <heH 315

(B) | 335

(C) =hciH 365

(D) =hciH 375

Yk Tefeh S ® U wernfaeh

JMEATHET IVl STedid 9= e 2

(1) wifafafess Sferses

(2) faifed ey

(3) MR =i

(4) et sammft

Hehdieh :

(A) (D

B) (1), 2)

(©) (1), (2), (3)

D) (1), (2), (3) T (4)

WU RV SIS Aradie Seafaet

& R ?

(A) FHHa vfosg fafe et wrR—
1952

(B) fég, foreme sm@@i—1955

(C) STeAfeeg =il hrEl—1975

(D) g2 Wfaee wERi—1961
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The ‘two-child norm’ for the elected

representatives in Panchayats was
introduced in Maharashtra

IN e, .
(A) 1992
(B) 1994
(C) 1990
(D) 2003

According to the 73rd Constitutional
amendment, which of the following

provisions are optional for states ?

(1) Voting rights to MPs and MLAs

in local self government

(2) OBC reservation in Panchayati
Raj

(3) Financial powers of Panchayati
Raj

(4) Autonomy of the Panchayats
Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (1), (2) and (3)

(D) (1), (2), (3) and (4)
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TERISME Y =] et
SHEANAT SF 319 ATl 3T hIuTed

o1 R G e A 1

(A) 1992
(B) 1994
(C) 1990

(D) 2003

73S TSAGERITTHR,, TCHCURT ST

TSl Tl Uessh 3Ted ?

(1) Tk TEIMEATT TMEGR ST

AMER Jr=T HATEhR

(2) U= TSHEE TR ANTEREE
ST

o (aV

EiRSIEEIER

(3) TEId TS

(o e

(4) O] S
F@HI%F $
(A) (1) 3o (2)

(B) (2) = (3)
(C) (1), (2) 3T (3)
D) (1), (2), (3) =0T (4)




10. Assertion (A) and Reason (R) Pattern :

Assertion (A) : Women participa-
tion in public
affairs is an
important consti-
tuent of women

empowerment.

Reason (R) : 1/3 Reservation for
women has been
provided under
the 73rd amend-
ment of 1992.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are false but (R)
is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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10. faum (A) sufor RO (R) ® 2T©

fagam@ (A) : IESHE e S

T B Sl gadi-
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TSEEAAA 7351 HAI-
O S 1/3 STRET0

EREICTS

o
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03 K3
-
.

(A) (A) 9 (R) Tt =R 3ed 1o

(R) T (A) o T TILHI Y

(B) (A) 9 (R) Tl I 3Ted, 91 (R)

T (A) T TIH TIEHI TR

(C) (A) T TR R, WG (R) T IH
3

D) (A) & 9% 3R, g (R) ¥ R
S
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11.

12.

13.

Who shares the following view ?
“Public Administration consists of
all those operations having for their
the

enforcement of public policy.”

purpose fulfilment or

(A) Dwight Waldo
(B) L.D. White

(C) Luther Gulick
(D) Woodrow Wilson

Woodrow Wilson provided the
rationale for public administration
tobe e, .

(A) Public Law

(B) An academic discipline

(C) Professional Speciality

(D) Public Policy

Which one of the following

statements is not correct in respect

of New Public Administration ?

(A)

It is market oriented

(B) It upholds public interest

C) It

autonomy

advocates managerial

(D) It focuses on performance-

appraisal

11.

12.

13.
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@Teitel gfteahiol v Jrsen 7
AT G I 9d hrar
AR ™ YA gresaes Hidl fhan
IR Ui IOl fohall T fohamaia o]
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(A) EdrEe aTeel

(B) TH-El. =M

(C) R TfeT=h

(D) eI faeem

N o~ =

g1 TIeHT TRIITHATEE! T&d sheial

STYR TgUS
(A) eI ST
(B) erforer wmen
(C) =aradTaeh forersiieheon
(D) WS &R

T Ik GIMEAA HeHM @eiielieh]

HUG Th fauE I AR ?
(A) 1 INfYgE o118

(B) d SHfgden Hew <d

(C) 1 HIRATRT WAl JEEHR

L

(D) T fToUIEA JeommoeeR SR <




14.

15.

16.

In administrative approach

and philosophy, Kautilya’s

Arthashastra is nearest to which of

the following ?
(A) Henry Fayol’s principles

(B) Weber’s ideal-typical bureau-

cracy
(C) Good governance
(D) Fred Riggs’s principles

The democratic leadership style goes
with :

(A) Theory-A
(B) Theory—X
(C) Theory-Y
(D) Theory-Z

The first great advantage of

scientific management is :
(A) More Productivity
(B) Initiative of Workmen
(C) Scientific method

(D) Initiative of Manager

14.

15.

16.
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SHifeaTaT TREeh ™ gt S T

[al NN ha La:d (o
ClfddlctHen] hlVlcdql elconlRIl Sidlooon

e ?

(A) T &I I T
(B) Se=l SAESl AIhISme

(C) e
(D) e oo a@

(vﬁqqdir)lch qqrq ﬁ?ﬁ ......................... ?:I'I'Qﬁ

(A) F—Tag@a
(B) a—fagi
(C) a—Tag
(D) w—Tagia

IMST FIEAIATE] Tfgal Higl HIe]
% 3Tl% :

(A) ATYw IAEHAT

(B) AT @R

(C) IS Tgd

(D) FEEATIHTAT JRIHR

[P.T.O.



17.

18.

From the following qualities
which is not required for good

governance ?

(A) the art and skill of utilizing

political power

(B) good leadership

(C) autonomy to executive powers

(D) to avail consent of the governed

Who said that “Organisation is a
complex network of decisional

processes” ?

(A) Robert Owen

(B) Riggs

(C) Herbert Simon

(D) Chris Argyris

17.

18.
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TeiTeren] HIvT fasTo Femeame!

SAEYTE AR’ ?

(A) TSTohIF |l STRUATE hedl o ShETetdl

(B) gigw

N0

(®)) FESHRT =t ]

D) -

“gred ot ufeee T Sifed We

"', 3 HU WUMA  ?

(A) TS 3TaA

(B) Tt

(C) B HZHA

(D) foa etmifem
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19. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(®)
(c)
(d)

(1)

)

3)
4)

List 1
Economic Man
Decision Tree
Simulation
Delphi Technique

List II

Graphic depiction of alternative

solutions

Avoid

communication

face to face

Optimum decision

Trial and error approach to

complex problems

Codes :

@A) 3)
B) @)
©

D) @)

(@) (b)

(1)

(c)
(4)
(1)
3)

()
2)
3)
(4)

(4)
(2)

3 @ @
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19. = 19 g=i 11 o Sesan fur feeren
Hehalqd Irg 94 feren

(@)

(b)

(c)

(d)

(1)

(2)

3)

4)

T 1
afedsh A
lERRECE
gfaeqo
ST T

e 11

AT RO STl FRiieh ol

@ Fag e

wroeiE o

Sote ISR 9Ie-9HIE. ggdl.

- -
-
.

A 3)
(B) @)
©) @

D) 4)

@ ) © @

1 @ @

4 @O 3

2 3 @

@ @ @
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20.

21.

22.

Which of the following is an example

of negative motivation ?
(A) Money
(B) Status
(C) Reward

(D) Fear

The first conference on Comparative

Public Administration was held in

.............................

(A) 1951, Princeton University
(B) 1949, Harvard University
(C) 1950, Maxwell Graduate School

(D) 1952, Princeton University

“Comparative Public Administration
is linked closely to the study of

comparative politics”. Who said ?
(A) Riggs

(B) Robert Dahl

(C) Ferrel Heady

(D) Montegomery

20.

21.

22.

APR-2121711—D

AUk & ThRIcHE  ATTIL0=

/L0 AR ?

(A) T

(B) it

(C) TIfIoeR

(D) ¥™

qeIcHe Tleh FRITEATe dfge qie &
...................... S QU Sy

(A) 1951, T9¥A TIEUIS

(B) 1949, gEe faamds

(C) 1950, Hoadl UYUE whal

D) 1952, T=A fa=mdie

T oS
TSR SRR S s3e S[edeia

TR ST wU T ?
A fos

(B) U =rew

(C) ®a T

(D) HF=TRY

I E G E LS
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23. The  ‘Spoil  System’ in | 23. TIK T4 3WRhd (FTH.T.) TRIEHARIA
Administration was introduced in ‘o T’ I gE el
USA DY oo, .

(A) ISI faeea
(A) Woodrow Wilson

(B) ®focH werdee
(B) Franklin Roosevelt

(C) 31 Slhud
(C) Andrew Jackson >
(D) George Washington (D) i

24. ‘The Rule of Three’ is a feature of | 24. ‘<=1 f7®' € J¢ficd <) Qo= afyre
civil service in ......coceeuvevuneennnn. . e
A) UK (A) foe (Zh)

(B) USA. (B) FH T STHH
(C) ¥ra

(C) India

(D) France \D) e

25. The Fulton Committee was | 25. | SIERIE] :'"*U!\""' “““““““““““ Ll

appointed to study .........c............ . Y HLOIES el Bldl.
(A) Home Civil Services of Britain A) foe=m Tz T
(B) Civil Services of U.S.A.

(B) AT, = TG el
(C) Civil Services of Pre-

Independence Period in India (C) WA WRAR e Fel
(D) Services of British Treasury (D) feifew W ell
13 [P.T.O.



26. According to whon “Development

27.

28.

administration is a carrier of

innovating values” ?
(A) Edward Weidner
(B) Fainsod

(C) Midas

(D) Montegomeri

Development administration

emphasizes ON .......cccceeuvvvvevevnnnnns .
(A) Regular work

(B) Development work

(C) Structure oriented work
(D) Status quo work

The main function of International

Monetary Fund is :

(A) To encourage foreign

investment

(B) To lend money to the private

sector

(C) To provide financial support

(D) To promote exchange rate

stability

26.

27.

28.

APR-2121711—D

SRV Hdl TorehT™l JRTA o a8

qe ?

(A) TEdE TR
(B) ®Hre

(C) THe™

(D) =TT

(A) frafma et
(B) forrd =

(C) 1 AfaE i
(D) genfeerdt e
SRS A0S T afyrse =

(A) T AR HicaTe
(B) WISHt &=HEd sl qLaal
(C) foxita weshrd qeferd

(D) fafa <1 feer TrEvam Wi 30
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29. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

b)

(c)

d)

(1)
(2)
3)
(4)

List I

Frontiers of Development

Administration

Temporal Dimensions of

Development Administration

Development Administration—

Concepts, Goals and Methods

Development Administration
List II

George Gant

F.W. Riggs

Dwight Waldo

Irving Swerdlow

Codes :

A M
(B) (2)
©) 2
D) @

@ b)) © @

@ 3 @

@ @ @

3 O @

@ 3 @

APR-2121711—D

(A SN

29. I I T T 11 SJesan 317 Telt feerean

(@)
b)

(c)

(d)

(1)
(2)
3)
(4)

Hehdehr ard e feer -

i |
THI3Td St SegaTTHe feffrder

-

THRA SHHNE 3T Seeduie
efafreem
TRATH TSRy — He,
Mew 3f~e Aoed
TaTHe FefufTeym

e 11
SIS

Th. =g, oS
TS deel
AT @l

- K3
-
.

A )
(B) @)
©) @)

(D) 4)

@ @ @© @

@2 3 @

@ @ @

@ 1 @

2 3 @
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30. Follet propounded the concept

31.

32.

Of ciiiiiies .

(A) Constructive conflict
(B) Authority

(C) Power

(D) Leadership

The British concept of civil service

neutrality is laid down by :
(A) Fulton Committee

(B) Assheton Committee
(C) Masterman Committee

(D) Northcote Trevelyn Commi-

ttee

The role of the Cabinet Secretariat

IS teiiiieeeeeeeeeenres .
(A) Coordination
(B) To influence other ministries

(C) Centralization

(D) Guidance

31.

32.

APR-2121711—D

eI L&

(A) TIATCHS e
(B) ¥R
(C) g

(D) g

AT Fe dekera=t fafesr gemewn

(A) FH-=EITT

(B) SR HATGHGR THE TRvaT=
(C) ehgTehTums

(D) HrieRiehT=
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33. The Prime Minister’s office : 33. JUEEST wEed
(1) was created in 1950 (1) AT 1950 Hiedt el
(2) known as the Prime Minister’s 2) I 1977 T G Sraaed
secretariate till June 1977 = SeEe ST
(3) no subordinate offices are @) ST wEeE Sees T
attached to it R -
(4) to assist the President (L%) A SRl
Codes : wfea
(A) (1) and (2) (A) (1) s (2)
(B) (2) and (3) (B) (2) oo (3)
(C) (3) and (4) (C) (3) =mfor (4)
(D) (1) and (4) (D) (1) 7T (4)
34. Which of the following statements 34. e WA el R faer
are true about the Chief Secretary ?
(1) Chief Secretary has been A e ?
excluded from the operation of (1) qea |fgaren wrfa ggdidT
the tenure system. TSI ST 3T
(2) He is the chairman of the ~ .
Planning and Development (2) T ToeHTe o e FHe=ra it
Coordination Committees. e A
(3) He is the only advisor to the (3) o w g@ql-iﬂltll T 375
Chief Minister. .
, (4) @ TS FAST o= JHE 3Tl
(4) He is the Head of the State
Civil Services. Tekdioh :
Codes : (A) (1), (2) o (3)
(A) (1), (2) and (3) (B) (2), (3) 7T (4)
(B) (2), (3) and (4)
(©) (1), (2) and (4) (© ), @) = (&)
(D) (1), (2), (3) and (4) D) (1), (2), (3) 7T (4)
17 [P.T.O.



35.

36.

37.

Who recommended a mix-career
examination for senior public
servants ?

(A) Administrative

Commission

Reforms

(B) Sixth Pay Commission

(C) Paul Appleby

(D) Sarkariya Commission

Which one of the following

recommendations was not made by

the Northcote-Trevelyan Report

regarding Modern Public Service ?

(A) reservations for the
underprivileged

(B) promotion by merit

(C) recruitment by competitive
examination rather than
patronage

(D) a distinct between intellectual
and mechanical work

....................... Committee observed

“The right promotion at the right

time is an essential part of the

process of developing the full

talents of men and women in the

services.”

(A) Kothari

(B) Appleby

(C) Fulton

(D) Northcote

35.

36.

37.

APR-2121711—D

afts3 el Haeiardl fHs-atrsiifash

qheET R o sl ?

(A) TRITEhIT U TN

(B) el oA ST

(C) dfd Tqetsit

(D) SRR ST

Y oleh Jaame Afedehle-gagaiiad

STEATATA TIEHeTIeh! hivrd! FTHRE heft

e ?

(A) geAferd Eeehishiian SRar

(B) TUEERIA et

(C) gratfarsdta fAgedieast et
TReTr= HEAT TRt

(D) faga/smnfier snfor aifEes wear=mn
FHEAMAE 9T

A TSI Areee <O ¥ Serdtel St
geeHeETe qui Jfgw fashfaa s
Tfshadial Teh Hegwman 9 o

(A) =ierl

(B) sfaetsit

(C) Heied

(D) Tefente
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38. In which year was the Indian Civil | 35 g = dfeamn TgeT IO oot
Code drafted ? TR Al ?
(A) 1960 (A) 1960
(B) 1962 (B) 1962
(C) 1964 (C) 1964
(D) 1968 (D) 1968
39. Audit of State Government is : 39. USIEHRE @ru{& ¥ :
(A) A state subject (A) uvq'{:ﬁ"']-cﬁa oo
(B) On the concurrent list (B) g-qa;ﬁgﬁﬁz-ﬁa oo
(C) A union subject (©) Hﬂ?ﬁﬁ?ﬁﬁ faoa
(D) A residuary subject (D) IR faem
40. In which year plan and non-planned 10, e A FET i At =
expenditure were classified ? TR O oS 2
(A) 1997-98 (A) 1997-98
(B) 1986-87 (B) 1986-87
(C) 1987-88 (C) 1987-88
(D) 1989-90 (D) 1989-90
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41.

42.

The National Development Council

of India does not consist of

(A) Prime Minister
(B) Deputy Prime Minister
(C) Finance Ministers of States

(D) Chief Ministers of States

In which part and chapter of Indian
Constitution administrative

relation between centre and state

are mentioned ?

(A) Part XI Chapter II of the

Indian Constitution

(B) Part IX Chapter II of the

Indian Constitution

(C) Part VIII Chapter III of the

Indian Constitution

(D) Part XI Chapter III of the

Indian Constitution

42.

APR-2121711—D

(A) TagE™

(B) SUYque™

(C) T foawsh

(D) T HEAHA

YRS TSTEE=AT ShieT YA & ShioTe

YeRIUT T TR 13 GO Seoid

AqE ?

(A) YR TSI 9RT 3Teh{ Feh ol
T

(B) WRAT TSTeET=a WM 73 ehiul
T

(C) YR TSTESA=T UM 373 Tehul
-

(D) YA TSTee—=a1 9T 3T Yeh{u]

A
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43.

44.

The most effective means of citizens,

control over administration is :
(A) Elections

(B) Pressure groups

(C) Advisory committees

(D) Public opinion

Who is considered as the architect

of citizen charter ?

43.

4

APR-2121711—D

TTATER TRTReRTAT T SAfause
Treqq 1o ?

NREESNED

(B) <9ma e

(A) B.N. Haksar (A) SL.UA. 8RR
(B) George Major (B) SISt AR
(C) Lord Linton (C) e faeq
(D) Lord Dippon (D) @fE Sq
45. Who was the chairman of Second 45, WWQW ST el
Administrative Reforms Commi-
B ?
ssion (ARC) ?
(A) HRGST 3§
(A) Morarji Desai
B) Juid a@al
(B) Pranab Mukherjee @)
(C) Veerappa Moily (C) forom e
(D) K. Hanumanthiya (D) . TIHY=N
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46. Who wrote the book entitled

47.

48.

“Methods in Social Research” ?
(A) Max Black

(B) F.J. Michigan

(C) Good-Hatte

(D) Robert Acoff

Empirical phase in research process

involves :

(A) Selection of problem

(B) Specifying concept

(C) Data collection

(D) Report writing

Arithmetic mean is used in :

(A) Qualitative Analysis

(B) Orderly Ranking of Units

(C) Calculating Ratio

(D) Comparing

46.

47.

48.

APR-21217/1I—D
“Heoreg = e REE @ ug wroh
fafeen ?
(A) Y9 =Th
(B) Uh. <. M
(C) TS i g
(D) U TH®

gyt gferd=a sryaard] eraedd

(A) ToTcHS  fargersmoT

(B) U=l ShiHsh Ha&el
(®) SREINERINEI

(D) qer
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49.

50.

Match List I with List II and select
the correct answer from the codes
given below :
List I
(Interview)
(@) Structured
®)
(c)
(d)

Semistructured
Unstructured
Hard
List II

(Research)
(1) Qualitative
(2)
(3)
(4)

Quantitative
Quantitative and Qualitative

More in Quantitative than in
Qualitative

Codes :
(@)

A) (D

(B) 3)

< @ @ 3 @

O 2 B @O @

Which is the first stage of ‘data

processing’ in social research ?
(A) Coding

(B) Editing

(C) Computing of the scores

(b)
2)
4)

(c)
3)
@)

(d)
4)
2)

(D) Preparation of master charts

49.

50.

APR-2121711—D

= 1 Fierd = 11 e i et

Hhdalhid ard 3 feer
Tt 1

RICRITED

SIS

ERIERIED

FIR

(a)
b)
(c)
(d)

(1)
(2)
(3)
(4)
'{:I@HI%B :
(a)
A (D
B) 3)
© @ @2 & @

D 2 B 1 @

AR ST RN Arfedt/ded
EIERIET UGS A FIci M |2 e e A R kil
I ?

(A) STehientol

(B) HUREA

(C) W TEI=l WU g

(D) @ TR &

HEATHE AT TS

TUCHER &N SR G&ATCH

b)
2)
4)

(c)
3)
(1)

)
(4)
)
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ROUGH WORK
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